Roll No. ; m__
()bjccl.ive Intermediate I"art First (New Scheme)
Paper Code STATISTICS ( Objective ) X W
6187 Time: 20 Minutes Marks: 17 ﬁ' jﬁf’

You have four choices for each objective type question as A, B, C and 1. The choice which you think is correct, fill the

Q.No.1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles,
S0 Cutting or filling two or more ctreles will resalt in zero marks in that question. Attempt as many questions a5 given in
objective type guestiun paper and leave other circles blank,

S# _ Questions A .8 C D
3 ; g 5 | 4 i
1 The variance of 7. 7.7, 7. 7, 1s: 7 ] {1 0 -7 1i
e _ | : SIS I
2 Mean deviation from median s [Least Muost Liqual None of these |
e ; : s ; 1|
3 | Measures of dispersion has types. 2 3 4 5 i
4 {1fa=90. Fd=2andn= 10, then X s 9} 10 9015 90,20
S 1 GM of numbers 0,1, 2,3, 9 1s: 2] 9 5] 1 ,
2 S i ) : ——
6 um o eviations of the values trom mean is Negative Positive Jero Fractional |
7 e ; i Presentation | Tabulation | Classification franging o
columns s called: L data
b1 There are bases tor elassification: i 2 1 4 5
Y | Primary data and sceondary data , Same Dyilferent Opposite None o' these
| — ey i s S e v O 1 o e S R
10 | Hyperpeometric distribution has parimeters: : Two Thiree I"aur Five
S B — i\m_ﬁ___ il wesmey acp] e el
11 | The probability ot success is denoted by: | ltp | q n I p
12 | GO0 =999 are catled random numbers of; I-digit . 2-digits Iodigis 0 d-digits
13 | E(XY) is equal to: E(X34 B(Y)D XE(Y) ECO-EY) L YEXy !
i | |
14 | Any subset of the sample space is called; Event [ Sample | Oufcome Point
Lo P Y PSS S | e | S T
| 15 ¢ The probability ol sure event is: 0 -1 | ; <]
16 | In chain base method, base period is: J Fixed | Changed Cuonstant None of these
| raltme values are of equal importance then i . | . L
A B B sl -! Simple i Weighted Linweighted | None of these
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STATISTICS ( Subjective )
Time: 02:40 Hours Marks: 68
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SECTION - |
2 Write short answers of any EIGHT parts.

(iy  Trefine discrete variable

8 i
(i) Expand 24y —pb and (Y

TET il
(iiy Define weighted arithmetic mean,
(iv) If ¥, =3 with n =3 and ¥; = 4 with n, = 2. then find ¥,
(v)  What are merits of mode?
(vi) What are demerits of geometric mean?

16

(vii) Nlustrate praphicaily the relative positions of the mean. median and mode for {requency curves which are skewed

w right and lefl,

{viiiy Define price relatives,

(ix) Define simple index number.

(x)  What is consumer price index mgmber?

(xi) Find Fisher's index number if Laspeyer's = 108.78 and Paasche’s = 109,21

(xii) What are limitations of an index number”
3. Write short answers of any EIGHT parts.

(iy  What is classitication?

(i) Define class boundaries.

¢iii)  What is meant by dispersion?

(iv)  Define standard deviation.

(v} Wrile any two properties ol standard deviation.

{vi) Compute coeflicicin ol quartile deviation it Q= 10.2¢ 3 = 58.29

(vii) Calewlate lower guartile from the given data:- 13,3, 7, 15,17, 3,23, 27

{vii) Define event. :

(ix) Define compound event.

(x)  Define non-mutualty exclusive vvents.

(xi) Define exhaustive events,

(xii) For two mutually exclusive events A and BiC PEAY= .25, P(H) = 0.80, then find P(AUB),
4. Write short answers of any 81X parts.

(iy  What do you understand by random numlbers?

(i) Define mathematical expectations.

(i} Given E(X) =200 CV(X}y =T, then tind Var{X).

(iv)  What is continuous random variahle?

(v)  Write any two propertics uf expectation.

(vi) What is Bernoulti's trial?

{vii) Find the number of trials of'a binomial distribution which has mean =12, 8.1 =2

(viii) Under which circumstances we can apply the binomial distribution and hypergeometric distribution?

(ix} GivenN=10.n-4amdK =35, Find P{ X = 1)

v

SFCT[OE__—_I] ~__Auemptany THREL questions. Each question carries 08 marks. _J

5. (a)Find the weighted mean it weights 4, 3.3, 2 and 2 respectively are allotted to the subjects:
L L

_ Subjects | Urdu | English | Math | Statistics | Phys
L__Marks | w2 | 73 80 | §7 .
(b)Calculate harmonic mean from the following distribution:
| Classes ] 10-20 | 20 30 30-40 | 40- 50 | 5060
! Frequency | 3 5 12 .6 .
6. (a}Find the coefficient of quartile deviation from the following data-

Clagses [ 1020 | 20-30 300 4050 | S0-60 |

[Beeguency |3 | .7 TR T -

(b)The first three moments of a distribution about the value 2 ol g vartable are i
the mean is 3. the variance is 15 and third moment about mein is - 86,

04

04

16 and — 40. Show that

04
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